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Q1:Calculate value R1,R2,E,If Rt=16,
If Rt=16Ω,P1=8W, P3=4W
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Q2:In fig. find 
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Q3:In fig:
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Q4:Calculate Rt , It in the fig.
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Q5: In fig:
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 find R and I
If Rt= 220 Ω
Sol:
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Q6:In fig: find
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Q7:Using (KV L) Find V1,V2
      استخدم قانون كرشوف للفولتية واوجد الفولتيات المجهولة   
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Sol:
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Q8: Using (KCL) Find 
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I3=5A, I4=6A




واجب بيتي 
Q1: In fig:
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Find Rt=?
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R, =P, /"= 8W/4A%* =20
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RT=R1+R2+R3

R2:RT'R1 —R3
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R,=16Q2-2Q - 1Q =13Q

E=Rr1=(16Q)(24)=32V
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RT:R1+R2+R3+R4
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=7Q+4Q+7Q+7Q=25Q
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I =E/R;=50V/25Q=2A

V,=1R,=(24)(4Q)=8V
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Rt =12kQ
1= 6mA
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RT-——R1+R2+R3
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=(12kQ )-(4kQ )-(6kQ)
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Rr=15Q + 10Q + 25Q + 10Q + 250

=110Q
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I=E/Rr=35V/110Q=0 .318A
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Rr=50Q+R +60Q + 10Q +R =

=2208Q
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2200 = 12002 + 2R ——» 2R = 220€2- 120 €2 = 100<2
. R =500

I=E/Ry= 120V / 220Q= 0.545A
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E>R2aRl
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P;=R; I
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P =P5/Ry=4W/ 1Q= 44>
I1=2A

R =P,/ =8W/44%*=2Q
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RT = Rl + RQ_ + R3
R2 RT R[ —R3
R,=16Q-2Q - 1Q =13Q

E=RrI=(16Q)(24)=32V
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V, =14V




image33.png




image34.png




image35.png
203 29%;2% 203





image1.png




image2.png




image3.png
P =P5/Ry = 4W/ 1Q= 4A>
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